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1° SEM. 2017/2018

UNIVERSITY OF SWAZILAND

FINAL EXAMINATION PAPER

PROGRAMME: B.Sc. in Agricultural Economics and Agribusiness Management
Year 3

COURSE CODE: AEM 302 /307

TITLE OF PAPER: INTRODUCTION TO ECONOMETRICS

TIME ALLOWED: TWO (2) HOURS

INSTRUCTION: 1. ANSWER ALL QUESTIONS
2, EACH QUESTION CARRIES TWENTY FIVE (25)
MARKS

DO NOT OPEN THIS PAPER UNTIL PERMISSION HAS BEEN GRANTED BY
THE CHIEF INVIGILATOR
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QUESTION 1

Consider the following regression output:

¥ =0.2033+0.6560X,

se = (0.0976) (0.1961)
r?=0.897 RSS =0.0544 ESS =0.0358

Where Y = labor force participation rate (LFPR) of women in 1972
and X = LFPR of women in 1968. The regression results were

obtained from a sample of 19 cities in the Republic of South Africa.

i.  How do you interpret this regression? [8 Marks]

i.. Test the hypothesis: Ho: B, = 1 against H1: B, > 1. Which test do
you use? And why? What are the underlying assumptions of the
test(s) you use? [10 MARKS]

ii. Set up an ANOVA table for the above regression output.
[7 MARKS]
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QUESTION 2

Consider the following models.

Model A: Y =a,+a2X2,+a3X3;+ﬂ,

Model B: (YF_XE,:ﬁ1+ﬂ2X2:+/B3X3I+IL£r

Will OLS estimates of @, and B: be the same? Why?

[« MARKS]]
1. Will OLS estimates of s and f5 be the same? Why?
[ 4 MARKS]
iii.  Whatis the relationship between a, and po? [ 7 MARKS]]
1v.  Can you compare the R? terms of the two models? Why or why
not? [10 MARKS]
QUESTION 3

Consider the following model

Yi=antae DB X+l

Where Y = annual salary of a university professor

X = years of teaching experience

D = dummy for gender

Consider three ways of defining the dummy variable,
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1. D =1 for male, 0 for female.
1. D =1 for female, 2 for male.

. D =1 for female, —1 for male.

Interpret the preceding regression model for each dummy assignment. Is

one method preferable to another? Justify your answer. [25 MARKS]

QUESTION 4

1.

1i.

1ii.

1V.

Why do we need regression analysis? Why not simply use the mean
value of the regressand as its best value? [ 3 MARKS]
Briefly explain the purpose of including an error term in a regression
equation. [4 MARKS]
Say true or false or uncertain and explain: Even though the
disturbance term in the CLRM is not normally distributed, the OLS
estimators are still unbiased. [ 4 MARKS]]

What is the difference between the population and sample regression

functions? Is this a distinction without difference? [6 MARKS]



APPENDIX D: STATISTICAL TABLES 961

TABLE D.2 PERCENTAGE POINTS OF THE tDISTRIBUTION
Example :
Pr(t > 2.086) = 0,025
Pr(t=1.725) = 0,05 for df = 20
Pr(lt| > 1.725) = 0.10
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Note: The smaller probability shown at the head of each column is the area in one tail:
is the area in both tails,

Source: From E, 8, Pearson and H, 0, Hartley,
Cambridge University Press, Nayy York, 1966, Repi

the larger probability

eds., Biomeatrika Tables for Stais,

ticians, vol. 1, 3d ed., table 12,
roduced by perm;

ssion of the editors and rustees of Biometrika,




